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gesTdell 2.1

1. oY SgUe P(x) & fAIT, y = P(x) ST I AT Hepfd & fam @ | gcdsh Reafa &,
P(x) & Iehl T TEIT AT SISV |

(i) &ef: ST 91T P(x) T 3Tel@ x-318T
oI fondlt oY fdig TR €T Flear §

%grqch‘i T F&aT = Y| Ans.

(ii) geT: fgU a7 P(X) T 31Tei@
x-378T &1 Teh foig I wfdese
AT

. el &l TE&IT = 1. Ans.

(iii) geT: T 31T P(x) T 3Tl
X-318T o et Teig3it W Ticresq
AT g

« Q[=gehl &l FEIAT = 3. Ans.

]
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(iv) geT: f&T ITT P(x) T 3TTelE
x-37&7 T & faig3fl ) gicrese
LT &
. gl &l AT = 2. Ans.

(v) gef: ST 31T P(x) T 3Tei@
x-378T &1 TR fg3il W yicede
HIAT B

. el &l TE&IT = 4. Ans.

(vi) &eT: T&T aTT P(x) 1 3T
X-318T & et feig3il W Ticresa
AT gl

~ Q! T FE&IT = 3. Ans.

]
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qTdel 2.2

1. AT gfaend SgUal & [raeh AT HITTT 3R Yegehl TAT I[UTTHT o &1
T I Gl T ST HITAT: -
()x2?-2x-8
gol: P(X)=x2-2x-8

=X?-4x+2x-8

=xX(X-4)+2(x-4)

=(x-4) (x+2)
P(x) & =g ATd ¥ & foIT
X-4=0ATx+2=0
X=4IdTx=-2
~P(x) % L 4 3T -2 8
- QI T NT 3R et T 0T
= 4. (-2)
=-8

_ -8

T
_ AW UG
xzwa;ruw

37T QeI 3R AUTTeRT & el Heer HedTiie gie ¢

(i) 4s2-4s+1

gol: P(s)=4s2—-4s+1
=4s2-25s-2s+1
=2s(2s-1)-1(2s-1)
=(2s-1)(2s-1)

P(s) & edeh JTd &l o folT

2s-1=031r2s-1=0

S=1grs=

2 2 )
- P(s) & e - AR F |
. QeI T T 3R eI T IUTThol

v R e S S T R
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(iii) 6 x?- 3 - 7x
gol: P(X) =6 x2-3-7x

=6Xx>-7x-3

=6Xx>-9Xx+2x-3

= 3x (2x—-3) + 1(2x - 3)

=(2x-3)(3x + 1)
P(x) & =g ATd ¥ & foIT

2Xx-3=0dr3x+1=0

?IITX-_1

P(x) %al—eﬁ IR=—= %

3T IRl T TOUTAB
=31(3)

-1

2

3R UE
x2 a»‘ra;ruw

_ — X I I[UTIR
X2 P

37cf: eahT 3 A[UTTERT & ST Heer HedTie gl o

(iv) 4u?+ 8u
gol: P(u) = 4u?+ 8u

=4u (u+ 2)
P(u) & =eh AT Il & folw
4qu=03dTu+2=0
u=0d4ru=-2
~ P(u) % 2= 0 3R -2 &1
. e T 19T 3R el T T[0T
=0+ (-2) =0. (-2)

=0

= —(=8) =
4

0
4

_ — U IR _ UG
u? &7 0T u? T 0T

37ef: eIl 3R A[UTTeRT & e Heer HedTi g 8
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(v) t2- 15

gol: P()=1t2- 15

= 2-(V15)°

= (t-V15) (t + V15)
P(t) & eTeh 3T el & felw

t-v15 =0Tt ++15=0

t=v153aTt=—+/15

«» P(t) & e V15 3R - V15 % |

. QeI T AT 3R YR T I[0TAHT

=15 + (- V15) =V15. (- V15)
=0 =-15

-0 _ —15

1 1
_ — tHI0NH _ IRUQ

t2 T [T t2 T 0TI

37 eet 31 I[UTIeRT & S Haer HeATTod BIdT 8|

(vi) 3x?-x -4

gol: P(X)=3x?-x-4
=3x’-4x+3x-4
=x(3x-4)+1(3x-4)
=(3x-4) (x+1)

P(x) & =T ATd ¥ & foIT
3X-4=0TTx+1=0

ng?:ITx:—l

£ PX)F LTI -1E |

. QeI T 1T 3R eI T IUTThol
4 =4

=5+ (1) 5 (1)

-4

3
U

X2 & 0TI
— X ST I[0UTIh
X2 &1 a[uTih

3: gel AR 0T & e T Fearad aidm &
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2. Ueh EfaETd 9gUe I hITTT, FSeht earehl o 1T AR I[UTeTthel harer: & 1S
()S=-3RP=-1
gol: S:iandP:—l
5 P(X) = X? - IhT T AT X + YeTehl T I0TAhol

e o1

:xz-ix—l
- QI g9 &1 Fhell & = 4(x2-i><- 1)

= 4x% - x -4 Ans.

. _1 f—
qERT gl S=_3RP=-1

-4
4

L=
a
=>a=4,-b=13Rc=-4
Ir,a=4,b=-13Rc=-4
~PX)=ax*+bx+c

T, P(X) = 4 x?- x — 4 Ans.

(i) S=v2 3R P=
gel:'S=+v/2and P =
5 P(X) = X2 - QzTehT T AT X + eIkl HT 0TI
= xz—x/ix+§
- GIIET SEUE & Hhll & = 3 (X?-V2x+3)
=3x?- V2 x-1Ans.

1

3
1
3

3

»a=3,-b=3/23Rc=1
IJqr,a=3,b=-3v23Kc=1
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~P(X)=ax?+bx+c

T, P(x) = 3 x2- 3v/2x + 1 Ans.

(iii) 0,v/5
g1:5=0and P =5
5 P(X) = X? - IhT T AT X + YeTehl T I0TAhol
=x2-0x++/5
= XZ + \/g
aﬁm?ragna g = x2++/5. Ans.

sa=1-b=03Rc=5
Id,a=1,b=03Rc=+5

~P(x)=ax?*+bx+c
=x2+0x+5

AT, P(X)= x2 + V5 Ans.

(iv) 1, 1
gel: S=13RP=1
5 P(X) = X? - IRl ST FYIT X + YeTehl I OTThel
=x*-1.x+1
=x*—x + 1 Ans.

(v)S==3RP=
W:S:%andP:
5 P(X) = X% - [T ehT T AT X + YeTehl T VT
-2 _(1 1
"R (4)X+4
1 1

= X2+ X +-
4 4

-, SIETT SgYC 81 Wehell & :4(x2+i x+%)

= 4x%+x + 1 Ans.
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. _ -1 _1
qERT g S = — 3R P ==

4
-1 c 1

a 4

a
»a=4,-b=-13Rc=1
Jd,a=4,b=13Rc=1

~P(x) =ax®*+bx+c
=4x°+1.x+1
=4x%+ x + 1 Ans.

(vijS=4,P=1

gl S=43RP=1

5 P(X) = X2 - {eehT T JNIT X + YeIehT HT I0TAB T
=x*-4.x+1
=x?—4x+1Ans.




